State Supermarket									
STATE		Omega	1-3	Organic	Cage	-Free	Veg	-Fed	
NORTHEASTERN U.S CT,DC,DE,MA,MD,ME,NH,NJ,NY,PA,RI,VT	W	White	Brown	White Brown	White	Brown	White	Brown	Conditions
Adams IGA	12	2 18	12	12 pack	12 կ	pack	12 p	oack	
Land O Lakes									
Bravo	2.99	99							
Compare Foods Land O Lakes x								2.99	
C-Town Nature's Yoke x					2.99	2.99			
Geissler's							2.99		
ShopRite						2.99			
ShopRite								1.88	
Stop & Shop Nellie's								2.50	2 for \$5.00; limit 4
Target no label x 0.99 3.98 Walmart Sunny Meadows x 3.98 Whole Foods Nellie's Nest x 4.98 Whole Foods Nellie's Nest x 4.98 Nest Fresh x 0.99 4.98 Begland's Best x 0.99 4.98 Safeway Lucerne x 0.99 4.98 Eggland's Best x 0.99 4.98 ACME Eggland's Best x 1.50 5.50 Fresh Grocer Fresh Grocer x 1.50 5.50 6.50									limit 4
Walmart Sunny Meadows x 3.99 Whole Foods Nellie's Nest x						2.99			
Whole Foods Nellie's Nest Nest Fresh X X DC Giant Hyattesville Harris Teeter Nellie's Harris Teeter X 0.99 Safeway Lucerne Eggland's Best X 0.99 Target no label X 0.99 DE ACME Food Lion Eggland's Best Fresh Grocer X free Fresh Grocer Fresh Grocer X 1.50 Crystal Farms Giant Hyattesville Nellie's X Harris Teeter Harris Teeter X 0.99 Redner's Redner's X 1.25 Safeway Lucerne X 4.99 Eggland's Best X 1.25 ShopRite Land O Lakes X X ShopRite X 1.88 Shurfine Shurfine X 0.99									
Nest Fresh									
OC Giant Hyattesville Harris Teeter Nellie's x 0.99 Safeway Lucerne x 0.99 Eggland's Best x 0.99 Target no label x 0.99 DE ACME Eggland's Best x 2.50 Food Lion My Essentials x free Fresh Grocer Fresh Grocer x 1.50 Crystal Farms Crystal Farms 0.99 Giant Hyattesville Nellie's x Harris Teeter Harris Teeter x 0.99 Redner's x 1.25 Safeway Lucerne x 1.25 Eggland's Best x 4.99 ShopRite x x 1.88 Shurfine Shurfine x 0.99					2.99				
Harris Teeter					4.39				
Safeway						2.99			
Eggland's Best									
Target no label x 0.99 ACME Eggland's Best x free Food Lion My Essentials x free Fresh Grocer x 1.50 7.50 Crystal Farms x 1.50 1.50 Giant Hyattesville Nellie's x 0.99 Harris Teeter Harris Teeter x 1.25 Redner's Redner's x 1.25 Safeway Lucerne x 4.99 Eggland's Best x x 1.88 ShopRite x x 1.88 Shurfine x 2.19 Target no label x 0.99									
DE ACME Eggland's Best x 2.50 Food Lion My Essentials x free Fresh Grocer Fresh Grocer x 1.50 Crystal Farms X 0.99 Giant Hyattesville Nellie's x Harris Teeter Harris Teeter x Redner's x 1.25 Safeway Lucerne x Eggland's Best x ShopRite x x ShopRite x 1.88 Shurfine x 0.99	3.49	19							w/ coupon; limit 4
Food Lion My Essentials x free Fresh Grocer Fresh Grocer x 1.50 Crystal Farms X 0.99 Giant Hyattesville Nellie's x Harris Teeter x 0.99 Redner's x 1.25 Safeway Lucerne x Eggland's Best x 4.99 ShopRite x x ShopRite x 1.88 Shurfine x 2.19 Target no label x 0.99									
Fresh Grocer Fresh Grocer x 1.50 Crystal Farms x 1.50 Giant Hyattesville Nellie's x Harris Teeter x 0.99 Redner's Redner's x Safeway Lucerne x Eggland's Best x ShopRite x ShopRite x Shurfine x Target no label									2 for \$5.00
Crystal Farms x Giant Hyattesville Nellie's x Harris Teeter x 0.99 Redner's x 1.25 Safeway Lucerne x Eggland's Best x 4.99 ShopRite x x ShopRite x 1.88 Shurfine x 0.99 Target no label x 0.99									limit 1 w/ roll purchas
Giant Hyattesville Nellie's x 0.99 Harris Teeter x 0.99 Redner's x 1.25 Safeway Lucerne x Eggland's Best x ShopRite x x ShopRite x 1.88 Shurfine x 2.19 Target no label x 0.99									2 for \$3.00
Harris Teeter x 0.99 Redner's x 1.25 Safeway Lucerne x Eggland's Best x ShopRite Land O Lakes x ShopRite x 1.88 Shurfine x 2.19 Target no label x 0.99									
Redner's Redner's x 1.25 4.99 Safeway Lucerne x 4.99 Eggland's Best x x 5.00 ShopRite x x x 1.88 Shurfine x 2.19 7.00 7.0						2.99			
Safeway Lucerne x 4.99 Eggland's Best x x 4.99 ShopRite Land O Lakes x x x ShopRite x 1.88 x 1.88 Shurfine x 2.19 x Target no label x 0.99 x									
Eggland's Best x x ShopRite Land O Lakes x x ShopRite x 1.88 Shurfine x 2.19 Target no label x 0.99									4 for \$5.00
ShopRite Land O Lakes x x x x x 1.88 Shurfine Shurfine x 2.19 2.19 Target no label x 0.99 0.99									
ShopRite x 1.88 Shurfine x 2.19 Target no label x 0.99	3.49	19							w/ coupon; limit 4
Shurfine X 2.19 Target no label x 0.99									2 for \$5.00; limit 4
Target no label x 0.99									limit 4
Malmort Supply Mandage									
Walmart Sunny Meadows x 3.98									

				SI	ZE							SH	ELL EG	GS					
_								Conve	entional		(Omega-	3	Organic	Cage	e-Free	Veg	-Fed	i
State	Supermarket	Label	J	XL	LG	MD		W	hite		Wh	ite	Brown	White Brown	White	Brown	White	Brown	Conditions
MA	Adams IGA	Eggland's Best									2.99								
		Land O Lakes			х													2.99	
	Compare Foods	Land O Lakes		х													2.99		
	Crosby's	Land O Lakes		х	Х						2.50								2 for \$5.00
	C-Town	Nature's Yoke			х											2.99			
	Demoulas	Market Basket			Х		1.19												or brown
	Stop & Shop	Nellie's			х											2.99			
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			Х					3.98									
MD	ACME	Eggland's Best		Х				2.50											2 for \$5.00
	Food Lion	My Essentials			Х		free												limit 1 w/ roll purchase
	Harris Teeter	Harris Teeter			Х		0.99												
	Giant Hyattesville	Nellie's			Х											2.99			
	GreatVALU	Essential Everyday			Х			1.88											
	Mars	Eggland's Best			Х									*					1/2 doz @ \$1.49
	Redner's	Redner's			Х		1.25												4 for \$5.00
	Safeway	Lucerne			Х					4.99									
		Eggland's Best		х							3.49								w/ coupon; limit 4
	Shopper's Food	Eggland's Best			Х									4.69					-
	ShopRite	Land O Lakes		х	Х													2.50	2 for \$5.00; limit 4
		ShopRite			х			1.88											limit 4
	Shurfine	Shurfine			Х			2.19											
	Target	no label			Х		0.99												
	Walmart	Sunny Meadows			Х					3.98									
ME	Target	no label			Х		0.99												
	Walmart	Sunny Meadows			Х					3.98									
NH	Demoulas	Market Basket			Х		1.19												or brown
	Stop & Shop	Nellie's			Х											2.99			
	Target	no label			Х		0.99												
	Walmart	Sunny Meadows			Х					3.98									
NJ	ACME	Eggland's Best		х				2.50											2 for \$5.00
	Associated Foods	Nature's Yoke			х										2.99				
		Safechoice			х														pasteurized @ \$2.29
		Egg Innovations			х											3.49		3.49	
	Bravo	Nature's Yoke			х										2.99	2.99			
	C-Town	Nature's Yoke			Х											2.99			

				SI	ZE							SH	IELL EG	GS					
								Conve	entional			Omega	-3	Organic	Cage	-Free	Veg	-Fed]
ate	Supermarket	Label	J	XL	LG	MD		W	hite		WI	nite	Brown	White Brown	White	Brown	White	Brown	Conditions
Ĺ	Extra Supermarket	no label	х				1.78												
ont)	Fine Fare	Organic Valley			х									4.69					
		Egg Innovations			х											2.99		2.99	
		Parade			х		1.50												2 for \$3.00
	Foodtown	Land O Lakes		х														3.00	2 for \$3.00
		Egg Innovations			х											3.50		3.50	2 for \$7.00
		Nature's Yoke			х											3.59			
		Foodtown			х						3.49			3.99					
	Food Bazaar	Ebenshade				х	1.00												5 for \$5.00
		Bogopa			х		1.25												4 for \$5.00
	Fresh Grocer	Fresh Grocer			х		1.50												2 for \$3.00
		Crystal Farms																	
	GreatVALU	Essential Everyday			х			1.88											
	King's	Eggland's Best			х								*						6-pak @ \$1.50
		Safest Choice			х														pasteurized, BOGO
	Met Foods	Egg Innovations			Х											2.99		2.99	
		Nature's Yoke	х											3.99					
	Murphy's	Eggland's Best		Х							2.49								
	ShopRite	Land O Lakes		Х	Х													2.50	2 for \$5.00; limit 4
		ShopRite			х			1.88											limit 4
	Stop & Shop	Nellie's			х											2.99			
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			х					3.98									
	Whole Foods	Nellie's Nest			х										2.99				
		Nest Fresh			х										4.39				
	Associated Foods	Nature's Yoke			Х										2.99				
		Safechoice			х														pasteurized @ \$2.2
		Egg Innovations			х											3.49		3.49	
	Big M	Best Yet				х	0.88												
	Bravo	Nature's Yoke			х										2.99	2.99			
	Compare Foods	Land O Lakes		Х													2.99		
	C-Town	Nature's Yoke			х											2.99			
	D'Agostino's	Land O Lakes		Х												3.00			2 for \$3.00
		Mountainside Farms			х											3.49		3.49	
	Dash's Market	Kreher				Х	0.99												
	DeCiccio's	Nature's Yoke			х											2.99			

				SI	ZE							SHI	ELL EG	GS					
								Conve	ntional			Omega-			janic	Cage-Free	Veg	-Fed	1
State	Supermarket	Label	J	XL	LG	MD		W	hite		Wi	nite	Brown	White	Brown	White Brown	White	Brown	Conditions
NY	Fine Fare	Organic Valley			Х										4.69				
cont)		Egg Innovations			х											2.99		2.99	
		Parade			х		1.50												2 for \$3.00
	Foodtown	Land O Lakes		х														3.00	2 for \$3.00
		Egg Innovations			х											3.50		3.50	2 for \$7.00
		Nature's Yoke			х											3.59			
		Foodtown			х						3.49								
	Food Bazaar	Ebenshade				х	1.00												5 for \$5.00
		Bogopa			х		1.25												4 for \$5.00
	King Kullen	4 Grain			х						2.49						2.49		
		Born Free			х											3.29			
		Eggland's Best			х							3.99							
		Safest Choice			х		1.99												pasteurized
	Met Foods	Egg Innovations			х											2.99		2.99	
		Nature's Yoke	х												3.99				
	Pioneer	Born Free			х											2.99		2.99	
		Egg Innovations			х											2.99		2.99	
		Nature's Yoke	х													3.99			
		Nature's Yoke		x												2.99			
	ShopRite	Land O Lakes		х	х													2.50	2 for \$5.00; limit 4
		ShopRite			х			1.88											limit 4
	Stop & Shop	Nellie's			Х											2.99			
	Target	no label			Х		0.99												
	Tops	Eggland's Best			х						2.69								
	Trade Fair	Eggland's Best			х						1.99								
	Walmart	Sunny Meadows			х					3.98									
	Whole Foods	Nellie's Nest			х											2.99			
		Nest Fresh			х											4.39			
Α	ACME	Eggland's Best		х				2.50											2 for \$5.00
	Big M	Best Yet				Х	0.88												
	Boyer's	no label			х		1.25												4 for \$5.00
		Eggland's Best		х							2.50								2 for \$5.00
	Bravo	Nature's Yoke			х											2.99 2.99			
	C-Town	Nature's Yoke			х											2.99			
	Family Owned	Family Owned				х	1.33												3 for \$4.00

				SI	ZE							SH	ELL EG	GS					
_								Conve	entional			Omega-	-3	Org	ganic	Cage-Free	Veg	-Fed	1
State	Supermarket	Label	J	XL	LG	MD		W	hite		w	hite	Brown	White	Brown	White Brown	White	Brown	Conditions
PA	Fine Fare	Organic Valley			Х										4.69				
(cont)		Egg Innovations			х											2.99		2.99	
		Parade			х		1.50												2 for \$3.00
	Food Lion	My Essentials			Х		free												limit 1 w/ roll purchase
	Foodland	Essential Everyday			х		1.25												4 for \$5.00
		Essential Everyday			Х			1.99											
	Foodtown	Land O Lakes		х														3.00	2 for \$3.00
		Egg Innovations			х											3.50		3.50	2 for \$7.00
		Nature's Yoke			х											3.59			
	Fresh Grocer	Fresh Grocer			х		1.50												2 for \$3.00
		Crystal Farms																	
	GreatVALU	Essential Everyday			х			1.88											
	Kuhn's	Kuhn's		х				1.69											
	Redner's	Redner's			х		1.25												4 for \$5.00
	ShopRite	Land O Lakes		х	Х													2.50	2 for \$5.00; limit 4
		ShopRite			х			1.88											limit 4
	Shurfine	Shurfine			х			2.19											
	Target	no label			х		0.99												
	Tops	Eggland's Best			Х						2.69								
	Walmart	Sunny Meadows			Х					3.98									
RI	Bravo	Nature's Yoke			Х											2.99 2.99			
		Land O Lakes		x													2.99		
	Dave's Marketplace	Eggland's Best			х								*						18-pack @ \$2.99
	Stop & Shop	Nellie's			х											2.99			
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			х					3.98									
VT																			

				S	ΙZΕ							SI	HELL EG	GS				
								Conve	ntional			Omega	a-3	Organic	Cage	-Free	Veg-Fed] , ,,,
State	Supermarket	Label	J	XL	LG	MD		W	hite		Wi	nite	Brown	White Brown	White	Brown	White Brown	Conditions
SOUT	HEASTERN U.S A	L,FL,GA,MS,NC,SC,TN	N,VA,	WV														
AL	Food for Less	no label				Х				2.77								
	Food Giant	no label			х			1.98										
	Greer	Best Choice			х		1.50											2 for \$3.00
	Ingle's	Laura Lynn			х		0.98											
	Kroger Atlanta	Kroger			х		1.25											4 for \$5.00
		Simple Truth			х										2.50	2.50		2 for \$5.00
	Piggly Wiggly	no label				х	0.99											
	Piggly Wiggly FdGt	no label				Х	free											w/ \$50 purchase
	Target	no label			Х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
	Winn-Dixie	Winn-Dixie			х			2.99										
Ľ	Food Lion	My Essentials			Х		free											limit 1 w/ roll purchas
	Greer	Best Choice			Х		1.50											2 for \$3.00
	Harris Teeter	Harris Teeter			Х		0.99											
	Hitchcock's	Flavorite			Х		1.50											2 for \$3.00
		Essential Everyday			х		1.50											2 for \$3.00
	J.H. Harveys	My Essentials			Х		free											limit 1 w/ roll purchas
	Sedano's	Eggland's Best			Х						2.00							2 for \$4.00
	Sweetbay	My Essentials			Х		1.39											limit 4
	Target	no label			х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
	Winn-Dixie	Winn-Dixie			Х			2.99										
A	Food Lion	My Essentials			Х		free											limit 1 w/ roll purchas
	Harris Teeter	Harris Teeter			Х		0.99											
	IGA Stores	KJ Farms			х		1.25											4 for \$5.00
	Ingle's	Laura Lynn			Х		0.98											
	J.H. Harveys	My Essentials			Х		free											limit 1 w/ roll purchas
	Kroger Atlanta	Kroger			х		1.25											4 for \$5.00
		Simple Truth			х										2.50	2.50		2 for \$5.00
	Piggly Wiggly	no label				Х	0.99											
	Target	no label			х		0.99											
	Walmart	Sunny Meadows			х					3.98								
	Winn-Dixie	Winn-Dixie			Х			2.99										

				SI	ZE						S	HELL EG	GS					
								Conve	entional		Omeg	a-3	Organic	Cage	-Free	Veg-	-Fed	Ī <u>.</u>
State	Supermarket	Label	J	XL	LG	MD		W	hite		White	Brown	White Brown	White	Brown	White	Brown	Conditions
MS	Food Giant	no label			Х			1.98										
	Greer	Best Choice			Х		1.50											2 for \$3.00
	Kroger Delta	Kroger				Х	*			2.49								
		Simple Truth			х									2.50	2.50			2 for \$5.00
	Piggly Wiggly FdGt	no label				х	free											w/ \$50 purchase
	Ramey's	Best Choice				х	0.88											
	Target	no label			Х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
	Winn-Dixie	Winn-Dixie			Х			2.99										
NC	Compare Foods	Morning Fresh			Х		1.50											2 for \$3.00
		Simpson		х			1.50											2 for \$3.00
	Food Lion	My Essentials			Х		free											limit 1 w/ roll purchas
	Galaxy Food	Morning Fresh			Х		1.50											2 for \$3.00
	Harris Teeter	Harris Teeter			Х		0.99											
	IGA Stores	KJ Farms			Х		1.25											4 for \$5.00
	Ingle's	Laura Lynn			Х		0.98											
	Kroger Mid-Atlantic	Kroger			Х			1.99										
		Simple Truth			х									2.50	2.50			2 for \$5.00
	Piggly Wiggly	Piggly Wiggly				Х	1.00											
	Target	no label			Х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
SC	Food Lion	My Essentials			Х		free											limit 1 w/ roll purchas
	Galaxy Food	Morning Fresh			Х		1.50											2 for \$3.00
	Harris Teeter	Harris Teeter			Х		0.99											
	IGA Stores	KJ Farms			х		1.25											4 for \$5.00
	Ingle's	Laura Lynn			Х		0.98											
	J.H. Harveys	My Essentials			Х		free											limit 1 w/ roll purchas
	Kroger Atlanta	Kroger			Х		1.25											4 for \$5.00
		Simple Truth			х									2.50	2.50			2 for \$5.00
	Reid's	My Essentials			Х			2.50										2 for \$5.00
	Target	no label			Х		0.99											
	Walmart	Sunny Meadows			х					3.98								
ΓN	Food City	Food Club				Х	BOGO											
	Food Country USA	Food Country				Х	1.25											4 for \$5.00
	Food Giant	no label			х			1.98										
	Food Lion	My Essentials			Х		free							1				limit 1 w/ roll purchas

				SI	ZE							SH	IELL EG	GS						
								Conve	entional			Omega	-3	Org	janic	Cage	-Free	Veg	-Fed	
tate	Supermarket	Label	J	XL	LG	MD		W	hite		W	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
V	Harris Teeter	Harris Teeter			Х		0.99													
ont)	Hometown IGA	IGA			Х		1.19													
		IGA				Х	0.99													
	Ingle's	Laura Lynn			Х		0.98													
	Kroger Atlanta	Kroger			Х		1.25													4 for \$5.00
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Kroger Delta	Kroger				Х	*			2.49										
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Kroger Mid-Atlantic	Kroger			Х			1.99												
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Kroger Mid-South	Kroger			Х			2.00												2 for \$4.00
		Simple Truth			х											3.00	3.00			2 for \$6.00
	Osborne's	Eggland's Best			Х						2.25									2 for \$4.50
	Target	no label			Х		0.99													
	Town & Country	Best Choice			Х		1.38													
		Eggland's Best			х						2.29									
	Walmart	Sunny Meadows			Х					3.98										
Α	Farmer's Foods	no label				Х	0.79													w/ coupon; limit 2
	Food City	Food Club				Х	BOGO													
	Food Country USA	Food Country				Х	1.25													4 for \$5.00
	Food Lion	My Essentials			Х		free													limit 1 w/ roll purcha
	Giant Hyattesville	Nellie's			Х												2.99			
	Grant's	no label				Х	1.25													4 for \$5.00
	GreatVALU	Essential Everyday			Х			1.99												
	Harris Teeter	Harris Teeter			Х		0.99													
	Hometown IGA	IGA			Х		1.19													
		IGA				Х	0.99													
	Ingle's	Laura Lynn			Х		0.98													
	Kroger Mid-Atlantic	Kroger			х			1.99												
		Simple Truth			Х											2.50	2.50			2 for \$5.00
	Piggly Wiggly	Piggly Wiggly				Х	1.00													
	Safeway	Lucerne			х					4.99										
		Eggland's Best		х							3.49									w/ coupon; limit 4
	Shopper's Food	Eggland's Best			х										4.69					
	Target	no label			Х		0.99													
	Walmart	Sunny Meadows			х					3.98										

				S	IZE							SH	ELL EG	GS					
	l							Conve	ntional			Omega-	3	Organic	Cage	-Free	Veg	-Fed	
State	Supermarket	Label	J	XL	LG	MD		W	hite		WI	nite	Brown	White Brown	White	Brown	White	Brown	Conditions
wv	Fas-Chek	Fas-Chek				Х	1.25												4 for \$5.00
		Fas-Chek				x	1.50												2 for \$3.00
	Food Fair	no label			х		0.99												limit 2
	Food Lion	My Essentials			х		free												limit 1 w/ roll purchase
	Foodland	Essential Everyday			х		1.25												4 for \$5.00
		Essential Everyday			x			1.99											
	Galaxy Food	Morning Fresh			х		1.50												2 for \$3.00
	Grant's	no label				х	1.25												4 for \$5.00
	Kroger Columbus	Simple Truth			х										2.50	2.50			2 for \$5.00
	Kroger Mid-Atlantic	Kroger			х			1.99											
		Simple Truth			x										2.50	2.50			2 for \$5.00
	Sparkle	Sparkle			х		1.33												3 for \$4.00
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			х					3.98									

				SI	ΙZΕ							SH	ELL EG	GS						
	0	I also I						Conve	entional		0	mega-	-3	Org	janic	Cage	e-Free	Veg-Fed	0 1111 -	
tate	Supermarket	Label	J	XL	LG	MD		W	hite		Whi	te	Brown	White	Brown	White	Brown	White Brow	vn Conditio	วทร
IDW	ESTERN U.S IA,I	L,IN,KY,MI,MN,ND,NE,	OH,S	D,WI																
١	Affiliated Midwest	Double-G																		
	County Market	County Market			х		0.49												limit 1 w/ coupo	on
	Dahl's	Sparboe Farms			х			1.88												
	Family Foods	Our Family			х		1.49													
	Food Pride	Our Family			х		1.19	1.88												
	Hometown Foods	Shurfresh			Х		0.98												limit 3	
		Shurfresh			х		1.49												additional quan	ntitie
	Hy-Vee	Hy-Vee			х		0.99								3.28					
		Christopher			х						2.50								2 for \$5.00	
		Full Circle			х												2.50		2 for \$5.00	
	Target	no label			Х		0.99													
	Walmart	Sunny Meadows			х					3.98										
	Butera Market	Food Club			х		0.49												w/ coupon; limi	it 1
	Caputo's	Dutch Farms	х				1.19													
		Dutch Farms			х		1.29													
		Land O Lakes			х													2.7	9	
	County Market	County Market			х		0.49												limit 1 w/ coupo	on
	Cub Foods	Cub			х			1.88											·	
	Dierberg's	Eggland's Best			Х						2.50								2 for \$5.00	
	Dominick's	Lucerne			х					4.49										
		Eggland's Best		х							3.29								w/ coupon; limi	it 4
	Fairplay Foods	no label		х			0.99												limit 2	
		no label		х			1.25												additional	
	Food4Less	Kroger				х	*												5-doz @ \$3.98	3
	Food Pride	Our Family			Х		1.19	1.88												
	Garden Fresh	Dutch Farms	х				1.29													
	Hy-Vee	Hy-Vee			х		0.99								3.28					
		Christopher			x						2.50								2 for \$5.00	
		Full Circle			x												2.50		2 for \$5.00	
	Jewel	Egg Innovations			х				1		3.79			1		3.79			**	
		Davidson's			x		2.50												pasteurized	
		Phil's			X											3.39				
		Eggland's Best			X						2.50								2 for \$5.00	
	Jimenez	Mussman's			X		0.79		1										limit 4	
			+		<u> </u>		J., v		1										mine r	

				SIZ	ZE							SHI	ELL EG	GS						
								Conve	entional			Omega-	3	Org	ganic	Cage	-Free	Veg	j-Fed	Ī
State	Supermarket	Label	J	XL	LG	MD		W	hite		WI	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
IL	Kroger Central	Kroger			Х			1.88												
(cont)		Simple Truth			Х											2.50	2.50			2 for \$5.00
	Kroger Mid-South	Kroger			Х			2.00												2 for \$4.00
		Simple Truth			Х											3.00	3.00			2 for \$6.00
	Meijer's	Meijer			Х		0.97													
	Pete's Fresh	Eggland's Best			Χ						2.50									2 for \$5.00
		Hamilton			Χ		1.25													4 for \$5.00
	Piggly Wiggly	Food Club			Х		0.49													limit 1
	Shop & Save	Dutch Farms	Х				1.29													
	Strack & VanTil	Eggland's Best			Х						2.50	3.49								
		Dutch Farms			Х						2.59						2.59	2.59		
	Target	no label			Х		0.99													
	Tony's Finer Food	no label			Х		0.99													limit 2
		Eggland's Best			Х						2.49									
	Ultra Foods	Eggland's Best			Χ							3.47								
	Walmart	Sunny Meadows			Χ					3.98										
	Walt's Food Center				Χ		0.89													limit 2
		Dutch Farms			Χ		1.19													additional quantities
		Rose Acres			X		0.89													limit 2
		Rose Acres			Х		1.19													additional quantities
IN	Al's Supermarket	Dutch Farms			Χ		1.19													
	Jay C	Kroger			Χ		1.50													2 for \$3.00
		Kroger			Χ			1.49												w/ store card
	Jewel	Egg Innovations			X						3.79					3.79				
		Davidson's			Χ		2.50													pasteurized
		Phil's			Χ											3.39				
		Eggland's Best			Χ						2.50									2 for \$5.00
	Kroger Central	Kroger			Χ			1.88												
		Simple Truth			Χ											2.50	2.50			2 for \$5.00
	Kroger Cincinnati	Kroger			Χ		1.25													4 for \$5.00
		Kroger			Χ		1.29													
		Simple Truth			Х											2.50	2.50			2 for \$5.00
	Kroger Mid-South	Kroger			Х			2.00												2 for \$4.00
		Simple Truth			Х											3.00	3.00			2 for \$6.00
	Martin's	Eggland's Best			Х						2.00									2 for \$4.00
	Meijer's	Meijer			Х		0.97			<u> </u>	<u> </u>									

				S	ΙΖΕ							SH	ELL EG	GS						
								Conv	entional			Omega-	3	Org	janic	Cage-	Free	Veg	j-Fed	i
State	Supermarket	Label	J	XL	LG	MD		W	hite		w	hite	Brown	White	Brown	White	Brown	White	Brown	Conditions
IN	Owen's	Kroger			х			1.88												
(cont)		Simple Truth			х											2.50	2.50			2 for \$5.00
	Strack & VanTil	Eggland's Best			х						2.50	3.49								
		Dutch Farms			х						2.59						2.59	2.59		
	Target	no label			х		0.99													
	Ultra Foods	Eggland's Best			х							3.47								
	Walmart	Sunny Meadows			х					3.98										
	Walt's Food Center	Dutch Farms			х		0.89													limit 2
		Dutch Farms			х		1.19													additional quantities
		Rose Acres			х		0.89													limit 2
		Rose Acres			х		1.19													additional quantities
KY	Food City	Food Club				х	BOGO													·
	Food Fair	no label			х		0.99													limit 2
	Food Giant	no label			х			1.98												
	Food Lion	My Essentials			х		free													limit 1 w/ roll purchase
	Foodland	Essential Everyday			х		1.25													4 for \$5.00
		Essential Everyday			x			1.99												
	Kroger Cincinnati	Kroger			х		1.25													4 for \$5.00
		Kroger			x		1.29													
		Simple Truth			x											2.50	2.50			2 for \$5.00
	Kroger Delta	Kroger				х	*			2.49										·
	-	Simple Truth			x											2.50	2.50			2 for \$5.00
	Kroger Mid-Atlantic	Kroger			х			1.99												
		Simple Truth			x											2.50	2.50			2 for \$5.00
	Kroger Mid-South	Kroger			х			2.00												2 for \$4.00
		Simple Truth			x											3.00	3.00			2 for \$6.00
	Meijer's	Meijer			х		0.97													
	Remke's	Remke's			х		0.99													
	Target	no label			х		0.99													
	Value Market	Best Choice			х		1.00													5 for \$5.00
	Walmart	Sunny Meadows			х					3.98										
МІ	Busch's	Eggland's Best			х						2.19									
	D&W Fresh	Eggland's Best			х						2.00									2 for \$4.00
	Family Fare	Spartan			х		1.25													4 for \$5.00
	Food Pride	Our Family			х		1.29													·
	Glen's	Spartan			х		1.25													4 for \$5.00

				SI	ZE							SH	ELL EG	GS						
	0	1 -1 -1						Conve	entional			Omega-	.3	Org	ganic	Cage	-Free	Veg-	Fed	0 1141
State	Supermarket	Label	J	XL	LG	MD		W	hite		WI	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
II	Harding's	Eggland's Best			Х						2.19									
ont)	Hiller's	Hamilton			Х		1.00													10 for \$10.00
	Hollywood	Hamilton			Х		0.88													limit 2
	Kroger Michigan	Kroger			Х		1.00													10 for \$10.00
		Simple Truth			х											1.99	1.99			
	Martin's	Eggland's Best			х						2.00									2 for \$4.00
	Meijer's	Meijer			х		0.97													
	Oleson's	Spartan			х		1.25													4 for \$5.00
	Plumb's	Spartan			х		1.25													4 for \$5.00
		Eggland's Best			х						2.00									2 for \$4.00
	Spartan Stores	Spartan			х		1.50													2 for \$3.00
	Super One/U-Save	Luoma			х															brown @ \$1.99/do:
	Tadych's	Our Family			х		1.09													
		Humpty Dumpty			х		1.09													
	Target	no label			х		0.99													
	Tom's Market	Spartan			Х		1.25													4 for \$5.00
	VG's Grocery	Eggland's Best			х						2.00									2 for \$4.00
	Walmart	Sunny Meadows			х					3.98										
N	Cub Foods	Cub			Х			1.88												
	Econo Foods	Our Family			Х		1.25													4 for \$5.00
	Festival	Crystal Farms			Х		BOGO													
	Food Pride	Our Family			Х		1.49													
	Hugo's	Our Family			Х		1.19													limit 2
	Hy-Vee	Hy-Vee			Х		0.99								3.28					
		Christopher			х						2.50									2 for \$5.00
		Full Circle			х												2.50			2 for \$5.00
	Marketplace Foods	Crystal Farms			х		0.99													limit 1 w/ purchase
	Maynard's	Shurfresh			х		1.49													
	Polly's	Eggland's Best			х							2.47			3.77					
	Rainbow Foods	Roundy's			х		BOGO													limit 1 w/ coupon
	Sun Mart	Our Family			х		1.25													4 for \$5.00
	Super One/U-Save	Luoma			х															brown @ \$1.99/do:
	Target	no label			х		0.99													
	Teals Market	Our Family			х		1.19	1.99												
		Pease			х		1.19	1.99												
	Walmart	Sunny Meadows			х					3.98										

				SI	ZE							SI	HELL EG	GS					
_	_							Conve	ntional			Omega	n-3	Org	ganic	Cage-Free	Ve	g-Fed	1
State	Supermarket	Label	J	XL	LG M	ÞΓ		W	hite		W	nite	Brown	White	Brown	White Brown	White	Brown	Conditions
ND	Hugo's	Our Family			Х		1.19												limit 2
	Leevers Foods	no label			х		1.28												
	Marketplace Foods	Crystal Farms			х		0.99												limit 1 w/ purchase
	Sun Mart	Our Family			х		1.25												4 for \$5.00
	Super One/U-Save	Luoma			х														brown @ \$1.99/doz
	Target	no label			х		0.99												
	Teals Market	Our Family			х		1.19	1.99											
		Pease			x		1.19	1.99											
	Walmart	Sunny Meadows			х					3.98									
ΙE	B&R Stores	Clearly Organic		х											3.49				
		Best Choice			x		1.29												
		Eggland's Best			x						1.99								
	Baker's	Dillon's			х			1.88											
		Simple Truth			x											2.50 2.50			2 for \$5.00
	Food Pride	Our Family			х		1.49												
	Hy-Vee	Hy-Vee			х		0.99								3.28				
		Christopher			x						2.50								2 for \$5.00
		Full Circle			x											2.50			2 for \$5.00
	Safeway	Lucerne			х														5-doz @ \$7.99
		Eggland's Best		х							2.49								w/ coupon; limit 4
	Sun Mart	Our Family			х		1.25												4 for \$5.00
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			х					3.98									
Н	Acme Fresh	Acme			х		1.25												4 for \$5.00
	Bigg's	Bigg's			х		0.99												
	Buehler's	Buehler's			х		1.25												4 for \$5.00
	Cub Foods	Cub			х			1.88											
	Food Fair	no label			х		0.99												limit 2
	Foodland	Essential Everyday			х		1.25												4 for \$5.00
		Essential Everyday			x			1.99											
	Kroger Cincinnati	Kroger			х		1.25												4 for \$5.00
		Kroger			x		1.29												
		Simple Truth			x											2.50 2.50			2 for \$5.00
	Kroger Columbus	Simple Truth			х										Ì	2.50 2.50			2 for \$5.00
	Kroger Mid-Atlantic	Kroger			х			1.99											
		Simple Truth			x											2.50 2.50			2 for \$5.00

				SI	ZE							SH	ELL EG	GS					
								Conve	ntional			Omega	-3	Org	anic	Cage-Free	Veg-	Fed	
State	Supermarket	Label	J	XL	LG	MD		WI	nite		Wi	nite	Brown	White	Brown	White Brown	White	Brown	Conditions
Н	Marc's	Davidson's			х		1.89												pasteurized
ont)		Eggland's Best			х						2.00								2 for \$4.00
	Meijer's	Meijer			х		0.97												
	Sparkle	Sparkle			х		1.33												3 for \$4.00
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			Х					3.98									
D	Hy-Vee	Hy-Vee			Х		0.99								3.28				
		Christopher			х						2.50								2 for \$5.00
		Full Circle			х											2.50			2 for \$5.00
	Lynn's Dakotamart	Our Family			х		1.39												
	Maynard's	Shurfresh			х		1.49												
	Safeway	Lucerne			х														5-doz @ \$7.99
		Eggland's Best		х							2.49								w/ coupon; limit 4
	Target	no label			х		0.99												-
	Teals Market	Our Family			Х		1.19	1.99											
		Pease			х		1.19	1.99											
	Walmart	Sunny Meadows			Х					3.98									
'I	Burnstad's Market	S&R Egg Farm			Х		0.49												limit 1
		S&R Egg Farm			х		0.98												
	Cub Foods	Cub			Х			1.88											
	Econo Foods	Our Family			Х		1.25												4 for \$5.00
	Festival Foods	Festival			Х		0.98												limit 1 w/ purchase
	Gordy's	Essential Everyday			Х		0.68												limit 2
	Marketplace Foods	Crystal Farms			Х		0.99												limit 1 w/ purchase
	Mega Foods	Mega Foods			Х		0.77												-
	Pick'n Save/Copps	Roundy's			х		0.98	1.98											
	Piggly Wiggly	Food Club			Х		0.49												limit 1
	Quality Foods IGA	no label			Х		1.50												2 for \$3.00
	Sendik's	Shurfresh			Х		0.99												
	Sentry	Sentry			Х		0.99												limit 1
	Super One/U-Save	Luoma			х														brown @ \$1.99/do:
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			Х					3.98									

				SI	ZE							SH	ELL EG	GS					
	0	Labat						Conve	ntional		0	mega-	3	Orga	anic	Cage-Fr	ee	Veg-Fed	0 1141
ate	Supermarket	Label	J			MD		WI	nite		Whit	te	Brown	White	Brown	White Br	own	White Brown	Conditions
UT	H CENTRAL U.S A	AR,AZ,CO,KS,LA,MO,I	NM,O	ζ,ΤΧ,	JT														
2	Brookshires	Brookshire's			Х		free												limit 1 w/ purchase
	Cranford's	Eggland's Best		х	Х						1.99								
	CV's Foods	Eggland's Best			х						2.29								
	G&W Foods	Best Choice	х				1.19												
		Best Choice			х		1.19												limit 2
	Harp's	Eggland's Best			х						2.18								
	Kroger Delta	Kroger				х	*			2.49									
		Simple Truth			х											2.50 2	2.50		2 for \$5.00
	Piggly Wiggly FdGt	no label				х	free												w/ \$50 purchase
	Target	no label			х		0.99												
	Town & Country	Best Choice			х		1.38												
		Eggland's Best			х						2.29								
	Walmart	Sunny Meadows			х					3.98									
<u>. </u>	Albertsons Market	Wild Harvest			х											2	2.99		
		Albertsons			х		free												limit 1 w/ purchase
	Basha's	basha's		х				1.88											
	El Super	no label			х				2.49										
	Food City	Food City			х			0.97											limit 1 w/ purchase
		Food City			х			1.97											additional
	Fresh & Easy	California Ranch			х			2.00											2 for \$4.00
		California Ranch			х			2.49											single unit
	Fry's	Fry's			х			1.88											
		Simple Truth			х											2.50 2	2.50		2 for \$5.00
	Pro's Ranch	California Ranch			х			1.99											limit 4
		California Ranch			х			2.99											additional quantitie
	Safeway	Lucerne			х														5-doz @ \$7.99
	Smart & Final	First Street			х		free												limit 1 w/ purchase
	Smith's	Smith's			х		1.25					·							4 for \$5.00
		Simple Truth			х											2.50 2	2.50		2 for \$5.00
	Sprout's	Sprout's			х		1.79												limit 4
		Sprout's			х										3.99				
	Target	no label			х		0.99												
	Walmart	Sunny Meadows			х		·			3.98									

				SI	ZE							Sł	HELL EG	GS						
_	_							Conve	ntional			Omega	1-3	Org	ganic	Cage	-Free	Veg	-Fed	1
State	Supermarket	Label	J	XL	LG	MD		W	nite		Wi	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
СО	Albertsons Market	Wild Harvest			х												2.99			
		Albertsons			х		free													limit 1 w/ purchase
	Clark's Market	Western Family			х		1.25													4 for \$5.00
	King Soopers	King Soopers			х		0.99													
		Simple Truth			x											2.50	2.50			2 for \$5.00
	Safeway	Lucerne			х															5-doz @ \$7.99
		Eggland's Best		x							2.49									w/ coupon; limit 4
	Sprout's	Sprout's			х		1.79													limit 4
		Sprout's			x										3.99					
	Sun Mart	Our Family			х		1.25													4 for \$5.00
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										
(S	Dillon's	Dillon's			х			1.88												
		Simple Truth			x											2.50	2.50			2 for \$5.00
	G&W Foods	Best Choice	х				1.19													
		Best Choice			x		1.19													limit 2
	Hen House	Eggland's Best			х								2.59							
	Hy-Vee	Hy-Vee			х		0.99								3.28					
		Christopher			x						2.50									2 for \$5.00
		Full Circle			x												2.50			2 for \$5.00
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										
Α	Brookshire's	Brookshire's			х			2.00												2 for \$4.00
		Brookshire's			x		free													limit 1 w/ purchase
	Kroger Southwest	Kroger			х			1.50												2 for \$3.00
		Simple Truth			x											2.50	2.50			2 for \$5.00
	LeBlanc's	LeBlanc's			х			1.77												
	Market Basket	Happy Hen			х		1.50													2 for \$3.00
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										
	Winn-Dixie	Winn-Dixie			х			2.99												
10	County Market	County Market			х		0.49													limit 1 w/ coupon
	Dierberg's	Eggland's Best			х						2.50									2 for \$5.00
	Food Giant	no label			х			1.98												
	G&W Foods	Best Choice	х				1.19							1						
		Best Choice			x		1.19													limit 2

				SI	ZE							SH	ELL EG	GS						
								Conve	entional			Omega-	3	Org	janic	Cage	e-Free	Veg	-Fed	
State	Supermarket	Label	J	XL	LG	MD		W	hite		w	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
МО	Gerbes	Dillon's			х			1.88												
(cont)		Simple Truth			х											2.50	2.50			2 for \$5.00
	Harp's	Eggland's Best			х						2.18									
	Harter House	Eggland's Best		х							2.29									
	Hy-Vee	Hy-Vee			х		0.99								3.28					
		Christopher			х						2.50									2 for \$5.00
		Full Circle			х												2.50			2 for \$5.00
	Kroger Central	Kroger			х			1.88												
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Moser's	Eggland's Best			х						2.29									
		Best Choice			х		1.50													2 for \$3.00
	Patricia's	Best Choice			х		0.97													
	Target	no label			х		0.99													
	Town & Country	Best Choice			х		1.38													
		Eggland's Best			х						2.29									
	Walmart	Sunny Meadows			х					3.98										
NM	Albertsons Market	Wild Harvest			Х												2.99			
		Albertsons			х		free													limit 1 w/ purchase
	John Brooks	Shurfine			х			1.88												
	Pro's Ranch	California Ranch			х			1.99												limit 4
		California Ranch			х			2.99												additional quantities
	Safeway	Lucerne			х															5-doz @ \$7.99
		Eggland's Best		x							2.49									w/ coupon; limit 4
	Smith's	Smith's			х		1.25													4 for \$5.00
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Sprout's	Sprout's			х		1.79													limit 4
	'	Sprout's			х										3.99					
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										
ок	Buy for Le\$\$	Best Choice			х		0.99													limit 2
	Harp's	Eggland's Best			х						2.18									
	Homeland	Eggland's Best		х	х						2.29		1							
	Market Square	Shurfine			х			1.99			1		1							
	Reasor's	Best Choice			х		1.48													
		Eggland's Best			x						2.50									2 for \$5.00
	Sprout's	Sprout's			х		1.79				1									limit 4

				SI	ZE							SH	ELL EG	GS					
.								Conve	entional			Omega-	-3	Organic	Cage	e-Free	Veg-F	ed	
State	Supermarket	Label	J	XL	LG	MD		W	hite		W	hite	Brown	White Brown	White	Brown	White B	rown	Conditions
OK	Target	no label			х		0.99												
(cont)	Terry's	no label			х			2.50											2 for \$5.00
		no label			х					3.99									
	Walmart	Sunny Meadows			Х					3.98									
	Williams	Best Choice			Х		\$.50 off												
TX	Albertsons Market	Wild Harvest			Х											2.99			
		Albertsons			х		free												limit 1 w/ purchase
	Brookshire Bros.	Brookshire's			х			2.00											2 for \$4.00
	Brookshire's	Brookshire's			х			2.00											2 for \$4.00
		Brookshire's			х		free												limit 1 w/ purchase
	El Rancho	Mahard's				Х				1.98									
	Kroger Southwest	Kroger			х			1.50											2 for \$3.00
		Simple Truth			х										2.50	2.50			2 for \$5.00
	Market Basket	Happy Hen			х		1.50												2 for \$3.00
	Pro's Ranch	California Ranch			Х			1.99											limit 4
		California Ranch			х			2.99											additional quantities
	Randall/Tom Thuml	Lucerne			Х					3.99									
		Eggland's best		х							2.69								w/ coupon; limit 4
	Seller's Bros.	Kieke's			Х			1.67											3 for \$5.00; limit 3
		Kieke's			х			1.99											additional
	Sprout's	Sprout's			х		1.79												limit 4
		Sprout's			х									3.99					
	Target	no label			х		0.99												
	Terry's	no label			х			2.50											2 for \$5.00
		no label			х					3.99									
	United/Market St	Red River Farms			х			2.47											
	Walmart	Sunny Meadows			Х					3.98									
UT	Albertsons Market	Wild Harvest			х											2.99			
		Albertsons			х		free												limit 1 w/ purchase
	Associated	Western Family			х			2.19											
		Western Family			х		0.99												
	Clark's Market	Western Family			х		1.25												4 for \$5.00
	Fresh Market	Western Family			х			2.19											
		Western Family			х		0.99												
	Macey's	Western Family				х	0.88												
		Western Family			х		0.99												

				SI	ΖE						SH	IELL EG	GS					
								Conve	entional		Omega		Organic	Cage	e-Free	Veg	_J -Fed	1
State	Supermarket	Label	J	XL	LG	MD		W	hite		nite	Brown	White Brown	White	Brown		Brown	Conditions
	Ream's	Ream's			х		0.95											
	Ridley's	Western Family			х		1.25	1.98										
	Smith's	Smith's			х		1.25											4 for \$5.00
		Simple Truth			Х									2.50	2.50			2 for \$5.00
	Sprout's	Sprout's			х		1.79											limit 4
		Sprout's			х								3.99					
	Target	no label			х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
														1				

				SI	ZE						S	HELL EG	GS					
								Conve	ntional		Omeg	a-3	Org	ganic	Cage-F	ree	Veg-Fed	
te	Supermarket	Label	J	XL	LG	MD		W	hite	Wi	nite	Brown	White	Brown	White B	Brown	White Brown	Conditions
JTI	HWESTERN U.S	CA,HI,NV																
	Big Saver	no label		Х					2.50									2 for \$5.00
L	Chavez	Chavez			х			2.29										
	El Super	no label			х				2.49									
	El Tapatio	no label				Х			2.37									
		no label				Χ			1.87									1 day only
	Fresh & Easy	California Ranch			х			2.00										2 for \$4.00
		California Ranch			х			2.49										single unit
	Holiday Markets	NuLaid			х			2.49										
	Jon's Marketplace	no label			х				2.99									
	K.V. Mart	no label			х				2.50									2 for \$5.00
Ī	Lucky's	Sunnyside			х			2.50										2 for \$5.00
Ī	Lunardi's	Lunardi's			х		0.99											5 or less
		Lunardi's			х		1.29											6 or more
Ī	Mar-Val Foods	NuLaid			х			3.49										
Ī	Mi Pueblo	Mi Pueblo			х		1.50											2 for \$3.00
		Mi Pueblo			х			2.50										2 for \$5.00
Ī	Mollie Stone	Mollie Stone			х		BOGO											
		Chino Valley			х							4.99		3.99				
Ī	Northgate	California Ranch		х				2.50										2 for \$5.00
		California Ranch			х													5-doz @ \$3.99
		Eggland's Best			х					2.50								2 for \$5.00
	Nugget Markets	Olivera Egg Ranch			х		1.50											2 for \$3.00
		Clover			х											2.99		
	Raley's	Raley's			х		1.98											
ı	Ralph's	Ralph's			х			2.50										2 for \$5.00
		Simple Truth			х										3.00	3.00		2 for \$3.00
Ī	R-Ranch	Trafficanda	х				0.99											
Ī	Ray's Food Place	Willamette		х			*											5-doz @ \$7.99
		Oakdell		х			*											5-doz @ \$7.99
		Rays			х			1.99		1								limit 1
		Essential Everyday			х			1.99										limit 1
ľ	Safeway	Eggland's Best		Х						3.49								w/ coupon; limit 4
	-	Lucerne			х													5-doz @ \$8.99
ı	Save Mart	Sunnyside	ĺ		х			2.50										2 for \$5.00
ľ	Smart & Final	First Street			х		free											limit 1 w/ purchas

				S	IZE							SI	HELL EG	GS						
								Conve	ntional			Omega	a-3	Organio		Cage	-Free	Veg	-Fed]
State	Supermarket	Label	J	XL	LG	MD		W	nite		WI	nite	Brown	White Bro	wn	White	Brown	White	Brown	Conditions
A	Sprout's	Sprout's			Х		1.79													limit 4
ont)		Sprout's			х									3.	99					
	Stater Bros.	Valu Time			х		*													5-doz @ \$6.99
		Stater Bros.			х		free													limit 1 w/ purchase
	Superior Grocers	Eggland's Best			х						2.50									2 for \$5.00
		no label			х															5-doz @ \$5.99
	Super-A-Foods	no label			х		free													w/ purchase
		no label				х	0.89													
	Target	no label			х		0.99													
	Vallarta	Trafficanda			х				2.50											2 for \$5.00
	Von's	Eggland's Best		х							3.29									w/ coupon; limit 4
		Lucerne			х															5-doz @ \$7.49
	Walmart	Sunny Meadows			х					3.98										
	Safeway	Eggland's Best		Х							3.79									w/ coupon; limit 4
	·	Lucerne (mainland)			х															5-doz @ \$9.99
	Target	no label			х		2.69													
	Times	Sunnyside			х		1.79													mainland eggs
v	El Super	no label			х				2.49											55
	Fresh & Easy	California Ranch			х			2.00												2 for \$4.00
	,	California Ranch			x			2.49												single unit
	Mariana's	no label	х						2.99						t					J - 1
	MarketOn	Tip Top		х					2.50											2 for \$5.00
	Raley's	Raley's			Х		1.98													·
	Ralph's	Ralph's			х			2.50												2 for \$5.00
		Simple Truth			х											3.00	3.00			2 for \$3.00
	Safeway	Eggland's Best		Х							3.49									w/ coupon; limit 4
		Lucerne			х															5-doz @ \$8.99
	Scolari's	Willamette				Х	0.99													limit 4
	Smart & Final	First Street			х		free													limit 1 w/ purchase
	Smith's	Smith's			х		1.25													4 for \$5.00
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Sprout's	Sprout's			Х		1.79													limit 4
		Sprout's			х									3.	99					
	Target	no label			Х		0.99													
	Von's	Eggland's Best		х							3.29									w/ coupon; limit 4
		Lucerne			х															5-doz @ \$7.49
	Walmart	Sunny Meadows			х					3.98										

				SI	ΙΖΕ							SH	HELL EG	GS						
.								Conve	ntional		C	mega	1-3	Organi	С	Cage	-Free	Veg-F	ed]
State	Supermarket	Label	J	XL	LG	MD		W	hite		Whi	ite	Brown	White Bro	own	White	Brown	White B	own	Conditions
IOR1	HWESTERN U.S	AK,ID,MT,OR,WA,WY																		
١K	Carr's	Eggland's Best		Х							3.79									w/ coupon; limit 4
		Lucerne			x															5-doz @ \$7.99
	Fred Meyer	Fred Meyer			х			2.00												2 for \$4.00; limit 2
		Simple Truth			х											2.79	2.79			
	Omni	Western Family			х			3.99												
		Western Family			х															5-doz @ \$12.99
	Target	no label			х		2.69													
	Walmart	Sunny Meadows			х					3.98										
)	Broulim's	Western Family				Х	0.88													
	Family Foods	Western Family			х		free													1 w/ ham purchase
	Fred Meyer	Fred Meyer			х			1.50												2 for \$3.00; limit 2
		Simple Truth			x											2.49	2.49			
	Harvest Foods	Western Family			х			1.58												
	Paul's	Western Family			х			1.48												
		Western Family			х		0.78													limit 2
		Western Family			x		0.99													additional quantitie
	Ridley's	Western Family			х		1.25	1.98												
	Rosauer's	Naturally Nested			х												2.00			2 for \$4.00
		Rosauer's			x		1.25													4 for \$5.00; limit 4
		Huckleberry's			x									3	.39					
	Safeway	Eggland's Best		х							2.99									w/ coupon; limit 4
		Lucerne			x															5-doz @ \$7.99
	Smith's	Smith's			х		1.25													4 for \$5.00
		Simple Truth			x											2.50	2.50			2 for \$5.00
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										
	Yoke's Foods	Yoke's			х		0.99													limit 2
		Naturally Nested			x											1.67				3 for \$5.00
T	Family Foods	Western Family			х		free													1 w/ ham purchase
	Harvest Foods	Western Family			х			1.58												
	Reynold's	Western Family			х			2.29												
		Western Family			х		1.50													2 for \$3.00
	Rosauer's	Naturally Nested			х												2.00			2 for \$4.00
		Rosauer's			х		1.25													4 for \$5.00; limit 4
		Huckleberry's			x									3	.39					

				SI	ZE							Sŀ	IELL EG	GS				
								Conve	ntional			Omega	1-3	Organic	Cage	e-Free	Veg-Fed	
State	Supermarket	Label	J	XL	LG	MD		WI	nite		WI	nite	Brown	White Brown	White	Brown	White Brown	Conditions
MT	Safeway	Eggland's Best		Х							2.99							w/ coupon; limit 4
(cont)		Lucerne			Х													5-doz @ \$7.99
	Smith's	Smith's			Х		1.25											4 for \$5.00
		Simple Truth			Х										2.50	2.50		2 for \$5.00
	Target	no label			Х		0.99											
	Walmart	Sunny Meadows			Х					3.98								
)R	Family Foods	Western Family			Х		free											1 w/ ham purchase
	Fred Meyer	Fred Meyer			Х			1.50										2 for \$3.00; limit 2
	Haggen/Tops	Haggen			Х		1.89											
	Market of Choice	Eggland's Best		х							1.99							
		Chino Valley			Х										2.99		2.99	
	McKay's	Nest Best			Х		1.79											
		Nest Best	х				1.50											2 for \$3.00; L2
	New Seasons	Stiebrs Farms			Х											*		18-ct @ \$3.99
	QFC	QFC			Х			2.00										2 for \$4.00
		Simple Truth			Х										2.50	2.50		2 for \$5.00
	Ray's Food Place	Willamette		х			*											5-doz @ \$7.99
		Oakdell		х			*											5-doz @ \$7.99
		Rays			х			1.99										limit 1
		Essential Everyday			х			1.99										limit 1
	Roth's	Willamette			Х			2.59										
		Willamette			Х		1.50											2 for \$3.00
	Safeway	Eggland's Best		х							2.99							w/ coupon; limit 4
		Lucerne			Х													5-doz @ \$7.99
	Target	no label			Х		0.99											
	Thriftway of OR	Willamette			Х			1.99										
		Chris			Х			1.99										
		Nest Best			х			1.99										
		Western Family			Х			1.99										
	Walmart	Sunny Meadows			Х					3.98								
	Whole Foods	Nature Fed			Х										2.99	2.99		non-GMO
۷A	Family Foods	Western Family			Х		free											1 w/ ham purchase
	Fred Meyer	Fred Meyer			Х			1.50										2 for \$3.00; limit 2
	Haggen/Tops	Haggen			Х		1.89											
	Harvest Foods	Western Family			Х			1.58										
	Metropolitan	Naturally Nested			Х											2.50		2 for \$5.00

	Supermarket	Label		SIZE				SHELL EGGS												
State							Conventional					Omega-	3	Organic		Cage-Free		Veg-Fed		
			J	XL	LG	MD		W	hite		W	nite	Brown	White	Brown	White	Brown	White	Brown	Conditions
/A	QFC	QFC			х			2.00												2 for \$4.00
ont)		Simple Truth			х											2.50	2.50			2 for \$5.00
	Red Apple	Organic Valley		х	х										3.99					
		no label			х		1.50													2 for \$3.00
	Rosauer's	Naturally Nested			х												2.00			2 for \$4.00
		Rosauer's			х		1.25													4 for \$5.00; limit 4
		Huckleberry's			х										3.39					
	Saar's	Cherry Lane				х														5-doz @ \$5.99; L3
	Safeway	Eggland's Best		х							2.99									w/ coupon; limit 4
		Lucerne			х															5-doz @ \$7.99
	Super1Foods	Western Family			х		0.48													limit 1 w/ coupon
	Target	no label			х		0.99													
	The Markets LLC	Chino Valley			х													2.99		
	Thriftway	Organic Valley		х	х										3.99					
		no label			х		1.50													2 for \$3.00
	Thriftway of OR	Willamette			х			1.99												
		Chris			х			1.99												
		Nest Best			х			1.99												
		Western Family			х			1.99												
	Walmart	Sunny Meadows			х					3.98										
	Whole Foods	Nature Fed			х											2.99	2.99			non-GMO
	Yoke's Foods	Yoke's			х		0.99													limit 2
		Naturally Nested			х											1.67				3 for \$5.00
Υ	King Soopers	King Soopers			Х		0.99													
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Ridley's	Western Family			х		1.25	1.98												
	Safeway	Lucerne			х															5-doz @ \$7.99
		Eggland's Best		х							2.49									w/ coupon; limit 4
	Smith's	Smith's			х		1.25													4 for \$5.00
		Simple Truth			х											2.50	2.50			2 for \$5.00
	Target	no label			х		0.99													
	Walmart	Sunny Meadows			х					3.98										